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I. (A) (1) Explain the factors affecting Economic Growth. 7
(2) Explain the economic growth model of Domer. 7
OR
Explain critically neo classical model of prof. Mide. 14
(B) Select the appropriate option and type the answer (any four) 4

(1)  What is the Capital Production Ratio ?
(A) Active agent of growth
(B) the most important determinant factor of the growth rate
(C) The most crucial factor of growth
(D) not consistent with the growth rate
(2) From the following Harriod model does not talk about
(A) Real Growth Rate
(B) Minimum Decisive Growth Rate
(C) Dedicated growth rate
(D) Natural natural growth rate
(3) In which sector more inequality in the developing Country ?

(A) Agriculture (B) Construction

(C) Service (D) Industry
(4) There is no differences between growth and development.

(A) Wrong (B) Correct

(C) Noidea (D) Growth includes development
(5) In Harrod Model, If G = Gw > Gn then

(A) Inflation occurs (B) Depression occurs

(C) Full employment (D) Full utilization of capabilities

(6) Which of the following is mainly the result of development in developed
countries ?

(A) Productivity of growing labour
(B) Increasing capital accumulation
(C) New Research and Technology
(D) Government support in exports
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2. (A) Write note on any two : 14

(B)

3. (A)
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(1)  Explain the concept of equilibrium with stability.
(2) Kaldor Model of Economic growth
(3) Explain the concept of advanced technical progress.
(4) World Bank’s Policy for Developing Countries
Select the appropriate option and type the answer : (any four) 4
(1) Big push theory is given by
(A) Rogenstin Rodan (B) Mead
(C) Solo (D) Clerk
(2) WhatisGC=S?
(A) Expected growth rate (B) Natural growth rate
(C) Actual growth rate (D) None of these
(3) Golden age concept is given by
(A) Harrod (B) Domar
(C) Mrs. John Robinson (D) Schumpeter
(4) Who gave the principle of economic development with unlimited labour
supply ?
(A) Rogenstin Rodan (B) W.A.Lewis
(C) W. W. Rostov (D) Solo
(5) In production function Q = A(t) F(L, K), what is “A” stand for ?
(A) Efficiency Parameter
(B) Technical Parameter
(C) Coefficient of technical change
(D) All of these
(6) The book “The Accumulation of Capital” wrote
(A) Harold (B) Mrs. John Robinson
(C) Kaldor (D) Hicks
(1) Democracy Planning 7
(2) Types of Planning
OR
Give an important explanation of infrastructure development in developing
countries. 14
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(B) Choose the correct option and type the answer (any three) : 3

(1)  Which is economical component of the following ?
(A) Social Factor (B) Religious Factors
(C) Politics (D) Natural Resources
(2) What happens if interest rates and income levels are high ?
(A) Savings rate is high. (B) Savings rate is zero.
(C) Savings rate is low. (D) Savings rate is negative.
(3) Concept of technical change firstly given by whom ?
(A) Harrod (B) Hicks
(C) Kaldor (D) Domar
(4) Capital saving technological progress is known as
(A) Non-neutral (B) Neutral
(C) Disembodied (D) Embodied
(5) Rolling plan for under developed countries is suggested by
(A) W.A. Lewis (B) G. Myrdal
(C) R.K. Nurksa (D) P. Samuelson
4. (A) Write notes about any two : 14
(1) Discuss the importance of infrastructural facilities in developing countries.
(2) Explain the international trade pattern after economic reforms in India.
(3) Discuss Solow model of Economic growth.
(4) Explain the concept of the IMF.
(5) WTO contribution in developing countries.
(B) Choose the correct option and type the answer : (any three) 3
(1) The concept of most popular nation associated with which organization ?
(A) IMF (B) IDA
(C) GATT (D) IFC
(2) World Bank is located at .
(A) New York (B) Manila
(C) Geneva (D) Washington
(3) The main objective of IMF
(A) To encourage international financial practice
(B) To bring stability to exchange rates
(C) To manage multilateral payment
(D) All above
(4)  Which of the following is handled by WTO ?
(A) World Bank (B) IMF
(C) GATT (D) Aid India Consortium
(5) WTO was established in the year .
(A) 1985 (B) 1990
(C) 1995 (D) None of these
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1.  (A) State the system of solving economic problem and explain the method of market
system. 14
OR

(B)

2. (A)

(B)

MB-121

Discuss the failure of market system in allocation of national resources.

Answer any four in one-two lines. 4
(1) State the basic economic problems.

(2) What is National Welfare ?

(3) State advantages of externalities.

(4) State the limitations of externalities.

(5) What is public good ?

(6) State the characteristics of pure private good.

Explain any one method of voting in detail. 14

OR

Discuss Arrow’s impossibility theorem.

Answer any four in one-two lines. 4
(1) What is absolute majority ?

(2) Explain point voting with an example.

(3) Whatis vote trading ?

(4) What is relative humanity ?

(5) Explain the concept of log-rolling.

(6) What is referendum ?
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3. (A)

(B)

4. (A)
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Explain the critically the voluntary exchange theory.

OR

Explain the pure theory of public expenditure.

Answer any three in one-two lines.

(1)
2)
€)
(4)
©)

What is transfer expenditure ?

What is the difference between Samuelson and Lind hall’s principle ?
State the provision of public expenditure given by Musgrave.

State the limitations of Wagner’s theory.

State the classification of public expenditure.

Evaluate the economic effects of income tax.

OR

Discuss the ability to pay principle of transaction.

Answer any three in one-two lines.

(1
)
3)
4
)

Explain the meaning of expenditure tax.

Explain the effects of expenditure tax on risk taking.
Which relationship is explained by Laffer Curve ?
What is tax shifting ?

What is budget incidence ?

11

14

14



MB-121

12



